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Problem #1;

(@ Find T3, then=3 Taylor Polynomial at a=1 of fx) = lnx.

(b) Determine T;(1.1).

(¢) Show that T;(1.1) ~ 111(1 3 1) 1s correct to 4 decimal places.

(d) Showthat T3(X) ~ In ( x) is correct to 4 decimal places
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Problem-#2:

(@) Approximate f(x) = x 3 by a Taylor Polynomial of "degree 2"

centered at the number a = 1.
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(b) Use Taylor's Inequality to estimate the. of the approx.

T2() = f(&x) = x> when x lies in the interval 0.9 < x < 11
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Problem #3+

Using a Taylor Polynomial for f(x) = sinx centered at a=0 ,

approximate sin (1%) correct to 5 decimal places.
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